CoPS Archive item TPMH0102: An example showing one way to simulate in GTAP a change in household tastes, shifting from food to services. [http://www.monash.edu.au/policy/archivep.htm]

Latest figures from the The European Commission and OECD show that half of Europeans are now overweight. [http://www.bbc.co.uk/news/health-11935525]

Experts claim that if Europeans ate 5% less, they would live longer and labor productivity would increase. How to simulate this in GTAP?

The problem is that GTAP does not include household taste change variables. Of course you could add them, but then you would need to understand the CDE utility function and the role of UELASPRIV. Unless you had special help, eg:
https://www.gtap.agecon.purdue.edu/network/member_display.asp?UserID=260
that might be very hard.

We describe a simpler approach, based on the well-known economic principle that:

Every interesting economic experiment can be thought of as a tax change.

In brief we simulate a household taste shift, from Food to Svces (services), by imposing a tax on Food, and a subsidy (tax reduction) on Svces, so that the net effect, on tax revenue (or household budget), of Food tax and Svces subsidy is zero. It is as though households just imagine the tax, and so eat less!

We need to find how high the food tax must be to cut food intake by 5%, and how high is the budget-balancing Svces subsidy.

You need GEMPACK installed to run the example. Unzip tpmh0102.zip into an empty folder, and from a DOS box there, type:


runsim.bat

You should see 3 simulations run.

The material is based on the standard GTAP model. The database comes from GTAP course material (see file Version.txt). To see ALL the additions for this project, search through the TAB, STI, and CMF files for "jmhadd". Main changes were:

In GTAP.TAB:

· a new exogenous variable to tax dom and imp food alike
(all,i,TRAD_COMM)(all,r,REG)  tpx(i,r);

· a new variable
(all,r,REG) delTotHTAX(r)
showing ordinary change in household tax revenue

· an equation to define delTotHTAX

In GTAP.STI: un-backsolved qp (so it can be exogenous)

GTAP1.cmf is just a preliminary try-out: it adds 10% to EU food tax while adjusting the Svces tax to fix delTotHTAX. We find that EU household use of food  [qp] fell by 4.35% (quite close to 5%).

GTAP2.cmf finds what increase in EU food tax would cut household use of food by 5% [while adjusting the Svces tax to fix delTotHTAX]. You can discover from GTAP2.SL4 that tpx("Food","EUnion") = 11.60846 and tpx("Svces","EUnion") = -1.92081.

In GTAP3.cmf we need to also apply the labour productivity increase. That will increase income and therefore food consumption. So we cannot hold qp("Food","EUnion") constant (as we did in GTAP2.cmf). Rather we use the standard closure to apply as exogenous shocks the Food and Svces tpx values that we computed in GTAP2.cmf. The "subtotal" command allows us to see the separate effects of the productivity and taste(tax) shocks.

Many variations on this theme are are possible. We simulated the effect of a taste shift from Food to Svces. To simulate a shift away from Food, counterbalanced by a shift towards other goods in general, you could make the variable tp("EUnion") play the role that we assigned to tpx("Svces","EUnion").
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